Previous Question Paper
CORPORATION BANK PO EXAM

REASONING ABILITY

1. In a certain code GONE is writ-
ten as '5%2# and MEDAL is Wit-
ten as '4#38@'. How is GOLD
written in that code ?

@ @38 (2 F@3
@ sHa@3 (@ 593
(® None of these

2. The positions of how many digits
in the number '39154326" will
remain unchanged after the dig-
its within the number are rear-
ranged in descending Order?

(@ None @ One
3 Two @ Three
(® Morethanthree

3. Among A, B, C, D and E each
having scored diflerent marks, B
has scored more marks than E
and D, B has not scored the high-
est marks among them. Who
among them scored second fiigh-

est marks ?
@ B @ C
@ E @ D

(® Datainadequate

4. In a certain code language 'how

old areyou' iswritten as'9 7.3 4'

and heisold iswritten 32/ 5,

How is 'he' written in t
language ? . _

@15 \

@ 2
@ 2o0r5

(4).Datainada5' e

(B None'of these

. W walked 30 metjges‘towards
South, took aleit turh andiwalked
50 metres, again he. took a left
_tum and walked 30/metres. How
“far iS he from the starting point ?
metres (2} 100 metres
130 metres (4) 50 metres
None of these

6. Ih a certain code’BLACK iswrit-
'‘ALBKC" and SMART is
written as 'AMSTR'. How is

‘,,

ct written in that code ?
(1) CLOKE (@ CLOCK
@ OoLCcKC (@ oLCcCcK

(® None of these

code™.

7. What should come next in the
fallowing number series ?
97531 186422975318
642 2975318642975
@1 @ 8
d 3 @5
(® None of these

8. The positions of the first and the
fifth digits in the number
83416759 are interchanged.
Similarly the positions of the sec-

ond and the sixth digits in-
terchanged and s@fon. Whieh of
the following will“be  the fodrth
digit from the fight end after jthe
rearrangemenits? \

@ 3 2 8

Q 4 4 6

(® None of these
9. M is brother of K. T is Sister of

K. Risfather of M. Jiswj -
H(ﬁr@ny sons does J have ?

D42
*\gfl ;
33

_}j (4 Datainadequate

(5) None of these

10. In acertain code 'GONE' is writ-
ten as 'NOEGG' and 'LOAD' is
written as’AODLL'". How is'SORT
written in that code ?
(1 ROSTT (@ ROTSS
(3 RSTOO (4 OTRSS
(® None of these

11. How many such pairs of letters
arethere in theword CONTRAST
each of which has as many let-
ters between them in the word
asin the English aiphabet?
(D None (@ One
3 Two @ Three
(® Morethan three

12. How many meaningful English
words can be made with the let-
ters DREO using each letter only
once in each word?
() None @ One
3 Two (@ Three
(® Morethanthree

13. Pointing to aboy, U 2 said "He
is the son of m ra?dfather‘s
only daughter”. How is'Urmila
related to the By 2 |

@) Moth ’
@ Mf;al Aunt
(3 Patemal Aunt;

, (4 Datainadeguate
« (5 None
47 |l "a row off forty boys facing
Nerth, R is twelfth from the Ieft
end and T is eighteenth from the
right end. How many boys are
between R and T in the row ?
@ 10 @ 1u
@ 12
(@ Cannot be determined
(® None of these
15. Mohit correctly remembers that
. hisfather's birthday is not after
eighteenth of April. His sister
correctly remembers that their
father's birthday is before twen-
tieth but after seventeenth of
April. On which day in April was
definitely their father' birthday ?
(D Seventeenth
(@ Nineteenth
(3 Eighteenth
(@ Seventeenth or Eighteenth
(® None of these
Directions (16-18) : Following
guestions are based on the five three-
digit numbers given below :
528 739 846 492 375
16. Which of the following represents
the sum of the first two digits of
the highest number ?
()7 (2)10
} 12 @ 13
(5) None of these
If the positions of the first and
the second digits of each num-
ber are interchanged, which of
the following will be thethird digit
of the second lowest number ?

17.

(D 8 @ 9
(3)6 @ 2
©® 5
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18. If the positions of the first and
the third digits of each number
are interchanged, which of the
following will be the middle digit
of the third highest number ?

@ 2 @ 3
3 4 @ 9
®7

Directions (19-20) : Study the
following Information carefully and an-
swer the questions given below :

@) 'P x Q means 'P is sister of

9-

(i) 'P + Q' means 'P is mother of
9'-

(@ii) 'P - Q" means 'P is father of
9'-

(iv) 'P + Q' means 'P is brother of

19. Which of the following represents
W is grandfather of H' ?
DW+T-H @ W=+T-H
@WxT+H @ W+ T+H
(5 None of these

20. Which of the following represents
‘M is nephew of R ?

OM=+T-R
@QR+T-M
@B RXT+MxJ
@DR+T-M +J

(5) None of these

Directions (21-26) : In each of
the questions below are given four State-
ments followed by four conclusions
numbered I, I, Il and IV. You have to
take the given Statements to be tliprg'L
even if they seem to be at varian@e fro

commonly known facts. Read al the”

conclusions and then decide Whth of .

from the given Statements disregard-

ing commonly knownJaﬁs.
21. Statements:

All rockets are polesy
(Some poles are tram
Some trams are ropes.
All ropes are tents.
Conclusions:

|'Seme tents are trams.
II.[Some ropes are nockets.
[11§Some trams are'rockets.

the given conclusions Idg"(szally follows

IV.§Some poles are rockets.
@ y I'and I follow

(2 Only L1l and 1l follow
(3) Onlyfl and 1l follow

(4) Only I and IV follow

(5) None of these

22. Statements:

All dials are mirrors.

All mirrors are spoons.
Some spoons are decks.
Some decks are chairs.
Conclusions:

I. Some decks are mirrors.
I1. Some spoons are dials.
I1l. Some decks are dials.
IV. Some chairs are spoons.
(1) None follows

(2) Or.ly I follows

(3) Only 1l follows

(4) Only Il follows

(5) Only IV follows
Statements:

Some houses are forests.

All forests are trees. \
.| k
- "-

23.

Some trees are hills.
All hiils are buses.
Conclusions:
|. Some buses
I1. Some trees
I1l. Some hiils
IV. Some buseés are for
(1) Only I and'll follow

(2 Only I, Il and IV follow

?3) , 11 and 11l follow,
, Il and IV foU

ts.

@ %y

ne of these
4. Stdtements: i
2"j,Some lakes are rivers.
== ° Somerivers are mountains.
Some mountains are books.
Some books are papers.
Conclusions:
|. Some books are rivers.
Il. Some papers are lakes.
I1l. Some mountains are lakes.
IV. No paper is lake.
(1) None follows
(2) Only either Il or IV follows
(3) Only Il follows
(4) Only IV follows
(5) Only either Il or IV and Ill fol-
low.
Statements:
Some tigers are horses.
All horses are goats.
All goats are dogs.
Some dogs are cats.
Conclusions:
|. Some cats are tigers.
Il. Some dogs are horses.
I1l. Some goats are tigers.

A,

25.

IV. Some cats are horses.

(1) Only | and Il follow
" (2 Only I, Il and Il follow
(3) Only I and Il follow
(4) Only I1, 1l and IV follow
(5) None of these
Statements:
All notebooks are pens.
No penistable. « %
Some tables are dgsks. g
All desks are tanks: / |
Conclusions:t Y.
I. Some t?rks are pens:

e

26.

I1. Some @esks are notebooks. 1

[11. Somé tanks are tables.

I'V.‘-No tank 1§ pe11

@ Only | follows

%) On"ly 11l follows

(3 Anly IV follows

(@) Qnly either | or IV follows

(5)"Only either | or IV and lll fd-

low

Directions (27-31) : Study the
following Information carefully and ax
swer the questions given below :

P,9, R ST.V,WandZae

i}fiing around a circle facing the cen ]

*tre. T is second to the right of R whois
third to the right of P. S is second to
the left of P and fourth to the right of
9- Z is third to the right of V whoisl
not an immediate neighbour of P.

27. In which of the following combi-
nationsisthefirst person stting |
in between the second and the
third persons ?

[

(HVTS (2)TZS
(3 9RV (4 PWQ
(5 VRT
28. Who is second to the right of T?|
(DS (2)z
®P @R

(5 None of these

What is P's position with respect]
otS?

(1) Fourth to the left

(2) Fourth to the right

(3) Fifth to the left

(4) Sixth t*the left

(5) Third to the right

29.

30. Who is to the immediate left of
z?
(DT (2P
S @v

(5 None of these
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31. Who is second to the right of W ?
@®R @Q
®z @s
(5 None of these
Directions (32-37) : Study the
folowing arrangement carefully and
answer the questions given below :
W7@IRP39BA$4HD50
ME2%T*85UQN1VG6#KF
32. How many such consonants are
there in the above arrangement,
each of which isimmediately pre-
ceded by a consonant and imme-
diately followed by a symbol ?
(D None (2) One
® Two (4) Three
(5 Morethan three
33. If dl the Symbols are dropped
from the above arrangement,
which of the following will be the
fifteenth from the left end ?
@M E @5
@D 4 2
(5 None of these
34. How many such numbers are
there in the above arrangement,
each of which isimmediately pre-
ceded by a symbol and immedi-
ately followed by a consonant ?
(I)None (2 One
® Two (4) Three
(5) More than three

35. Four of the following five are allkf
11

in a certain way based on,thei

positions in the above arra el .

ment and so form a group.

fch © %
: 0
isthe one that does nat belon to ‘5 g

that group ?
(nT=*2 (2 5
®39R . &

%TE A
Which ofthe following i

to the right ofthe twen
from the right end of
arrangement ?

he Ainth
-second
e above

(DH (2)#
ot we
(5 None of these

37. How many such Symbols are there
in th ove arrangement, each
of whieh isimmediately preceded
by a'nuniber and immediately
followed by a letter ?

(1) None (2 One
® Two (4 Three
(5) Morethan three

Directions (38 - 43) : In each

'P© Q' means'P, Q is not greater

question below is given agroup of let- than Q'
ter followed by four combinations of 'P $ Q' means 'P, is not smaller
digits/symbols numbered (1), (2), (3) than Q.

and (4). You have to find out which of
the four combinations correctly repre-
sents the group of letters based on the
following coding System and the con-
ditions that follow and mark the num-
ber of that combination asyour answer.
If none of the combinations correctly
represents the group of letters, mark
(5) i.e. 'None of these' as your answer.

than

Leter AN BRI JKM 1 Uo/WFp

Digt/ 6/S78|#112*|%(3/© 4/ 9| @5

y .

code: 44.
%

ConditJons: - \

@) If the first letter is
thelast letter isaco
codes areto be i

(@ If both the first
ters are conson
be coded as '5'.

(i) If the first letter is a con
and the last letter is avowel, |
are to be coded as the code for
the va

38. EKFUﬁ(

(ﬂs 78 @ I*-#078
(3) 75 4 1*#o7¥

‘ None of these

39! JMEIUD
(1) 8%83©5
(3) 798307

£

(2) 2%8302
(4) 2%8307

(5 None of these
PEJDWU 46
(1)58279© (2)582795 ’
(3 ©8279©  (4) 582795
(5 None of these
41. DMEAKJ
(D 79%8%*2 (2 2%8%*7
® 7%8%*7 (4 5%8%*5
(5 None of these
42. IBHWPO
(D 361954 (2 461953
(® 361953 (4) 461954 47
(5 None of these ’
43. UKPDMI

(D) ©5*7%3 (2 6*57%5
® 3*57%© (4 ©*5%73
(5 None of these
Directions (44-49): In the follow-
ing questions, the Symbols @, ©, %,*
and $ are used with the following mean-
ing as illustrated below:

below them is/ared
giveyour answer ac

"P@ Q' means'Pisneither smaller

nor greater than Q'.

'P* Q means'Pis neithekequal
to nor greater than Q'. *

'P% Q' means'Pis neiﬁe
than nor equal to Q'

rmaller

-F

Now in éach’ of the f IOVIIng

questions assu g the givens
ments to be trrljg,n find which the

three conclusiens I,

Il and HI given
initely true and

Fdingly.

tataments
D@WMsM$B, B*RR%T
Conclusions: 1. B* D
II. B@D
. 7T* M

(1) None is true

(2 Only I istrue

(3 Only Il istrue

(4) Only 11l istrue

(5) Only either | or Il istrue

Statements :

WOF, F@D, D * K, KSJ

Conclusions: I. K%W
II. D$W
. F* K

() Only | and Il are true

(2 Only I and Ill aretrue

(3) Only Il and Il are true

@ All1, 11 and 1l aretrue

(5) None of these

Statements :

R*K,KOM, M%T, T$J

Conclusions: 1. J* M
. R-*M
. K©J

() Only I istrue

(2) Only Il istrue

(3) Only I and Il aretrue

@ All'1, 1l and Il aretrue

(5) None" bT these

Statements :

R@K, TOK, T$M, M*W

Conclusions: . W %K
. MOR
. TOR

(1) Only I istrue

(2) Only Il istrue

(3) Only Il istrue

(4 AIL'L, 1l and Il are true

(5 None of these
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48. Statements:
TSNN%B,B@W, KOW
Conclusions: . K$B

. K$T

1. T% B
Q) Only | and Il aretrue
(2 Only | and Il aretrue
(3) Only Il and Ill aretrue
@ All 1, 1l and Il are true
(5 None of these
Statements :
Z%V.V«JJOM M @R
Conclusions: I. R%V

. M%V

. 2% M
(D) Only I and Il aretrue
(2 Only | and Il are true
(3) Only Il and Ill aretrue
@ All1, 11 and Il aretrue
(5) None of these
Directions (50-55) : Study the
following Information carefully and an-
swer the given questions :

A word and number arrangement
machine when given an input line of
words and numbers rearranges them
following a particular rule in each step.
The following is an illustration of input
and rearrangement.

49.

I nput . gone 93 over 46 84 now for
31

Step | : 31 gone 93 over 46 84 now
for

Step Il : 31 overgone 93 46 84 nov
for i

Step 111:31 over 46 gone 93'84 no
for

Step 1V : 31 over 46 no‘\ﬁrg e9384
for s 3

Step V =81 over 46 now 84 ‘gﬂ
( for
ahd Step V is the last steglof t
rearrangement of the abg@ve in-
put o
As per. the rules fpMpwed in the
above steps. ffind out jn each of the
following questions the appropriate step
for the givenfinput.
50. Step llI%of an Input : 15 window
29 93 86%sail tower buy
Which o?"trbe following will be
step VI ?
(1)15 window 29 tower 86 sail
93 buy
(2) 15 window 29-tower 86 93
sail buy

(3) 15 window 29 tower 93 86
sail buy

(4) There will be no such step.

(5) None of these

Input : Station hurry 39 67 al

men 85 59

How many stepswill be required

to complete the rearrangement ?

(1) Four (2) Five

(3 Six 4 Three

(5) None of these

Step Il of an input is : 49 zone

car battery 56 87 71 down

Which of the following is defi-

nitely the input ?

(1) car 49 battery zone 56.87 71
down

(2) zone 49 car battery 5
down

(3) battery car 49 zo
down

(4) Cannotbe dete

(5) None of these

Input : news 79 53 glory foi4

29 task |

Which of the following will be

step IV

1) 29 tas

o 8é

.(3)‘55 task 46 news 79 53 glory
for

i i (4 29 news 79 53 glory for 46
| task

'“(5) None of these
5 L Step Il of an input is : 27 tubt
34 gas Chamber row 74 53
Which of the following steps will
be the last but one ?
@ VI @ Vi
3 Vi @ v
(5) None of these
Step Il ofan inputis: 19year 85
74 near gone 26 store
How many more steps will be
required to complete the rear-
rangement ?
(1) Three (20 Four
(3 Two (4) Five
(5) None of these
Directions (56 - 60): Study the
following Information carefully and an-
swer the questions given below :

A B C D, E F, GandH are
eight students of a school. They study
in Standard VI, VII, and VIII with not

51.

52.

71

53.

&news 53 glory %9

46 news 53 79 glory

55.

57_‘.71k. 56.

more than three in any Standard. Each
of them has a favourite subject from
Physics, Geography, English, Marathi,
Mathernatics, Chemistry, Biology ad
Economics but not necessarily in the
same order.
D likes Chemistry and stu
Standard VIII with only H. B
study in Standard VII. E an
inthe same Standard but nqﬁsﬁ |
and F study in the same Standard J
who study in Standard VI do not:like
Mathernatics or Binﬁgy Flikes Phy
ics. The one who studies in Standard
Vil IrkesEnglrsh C does notlike Ge
ography. A§ favourite subject is
Marathi and G does not Ifl?e Biology.
ich s bject does H like ?
@ EngII(sh (@ Marathi
3 Science
(4) Data inadequate
(5) None of these
57. What is G's favourite subject ?
(1) Biology (2 Physics
(3 Marathi
) Data inadequate
(5) None of these
58. What is Cs favourite subject ?
(1) Economics (2) Biology
(3 English  (4) Geography
(5) Datainadequate
59. Which of the following combina-
tions of student-Standard. Sub-
ject is correct ?
(1) C- VIl - Economics
(2) D - VI - Chemistry
(3 G - VIl - Physics
(4 B - VIl - Mathernatics
(5) None is correct
60. Which of the following group of
students study in VIl Standard?
(1) EAF (2 EGC
3 EAG
(4) Data inadequate
(5) None of these
Directions (61-70) : Study the'
following information carefully and ar |
swer the questions given below :
The candidate must—
(i) be a graduate in any discipline
with at least 55 percent marks.
@ have a post graduate degree/di-
plomain Marketing Management
with at least 60 percent marks.
(i) have post qualification work ex-
perience of at least five yearsin
the marketing division of an
Organisation
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(v) have secured at least 45 percent
marks in the selection examina-
tion

() have secured at least 40 percent
marks in the selection interview.
In the case of a candidate who
satisfies all the conditions ex-
cept—

@ at (iii) above, but has post qualifi-
cation work experience of at |east
three years as Deputy Marketing
Manager, the case is to be re-
ferred to GM-Marketing.

O at (v) above, but has secured at
least 60 percent marks in the
selection examination, the caseis
to be referred to VP-Marketing.
In each qu beestionlow, details

of one candidate are given. You have
to take one of the following courses of
adion based on the Information pro-
vidad and the conditions and sub-con-
ditions given above and mark the num-
ber of that course of action as your
ansver. You are not to assume any-
thing other than the Information pro-
vidd in each question. All these cases
ae given to you as on 01.05.2010.

Mark answer (1) if the candidate
isto be selected.

Mark answer (2) if the candidat
isnot to be selected. %

Mark answer (3) if the case I‘ti
bereferred to GM-Marketing. 4

Mark answer (4) if the caseisto
be referred to VP-Marketing. #

Mark answer (5)4 the data pro-
vided are not adequal e f) tak€ adeci-
gon. , 1 Jr_,

61. Nidhi Agrawal has secured 60
percent. marks in the selection

intervi d 40 percent marks
inthe sel examination. She
has been wogking.in the market-

ing division offan Qrganisation for
the past eight years after com-
pleting her p@st graduate degree
¢ in marketing management with
65 per centymarks. She has se-
cured 59 pefcent marksin B.Sc.

. Navin Desaifhas secured 56 per-
cent marksfin B.A. He has been
working in'the marketing division
of an Organisation for the past

% Sevenyears alter completing his

Ipost graduate degree in market-
ing with 62 percent marks. He
has secured 62 percent marks
in the selection examination and
38 percent marks in the selec-
tion interview.

63. Sabina Handa has been working
for the past four years as Deputy
Marketing Manager in an
Organisation after completing her
post graduate diploma in market-
ing management with 65 percent
marks. She has secured 45 per-
cent marks in both selection ex-
amination and selection interview.
She has also secured 58 percent
marks in B.Com.

64. Manoj Malhotra has secured 65

percentm ar k S c .andsinB.60

percent marks in post graduate
degree in marketing manage-
ment. He has also secured 50

percent marks in both selection _
examination and selection int§- i

view. He has been wiorking in the

marketing of an
OrganisatiQ@ffor the past six years
after co i t gradu-

65.

cent marks in théf selectiongex-
amination. She ha ork-
ing in the marketjihg division of
g Organisation forfthe past seven
years after completing her post
graduation in marketing manage-

ment with 57 percent marks.

Utpal Goswami has been work-
ing in the marketing division of
an Organisation for the past five
years after completing his post
graduate diploma in marketing
management with 65 percent
marks. He is a first class sci-
ence graduate with 60 percent
marks. He has secured 45 per-
cent marks in the selection ex-
amination and 40 percent marks
in the selection interview

Anindita Ghosh has been work-
ing for the past eight years in an
Organisation after completing her
post graduate degree in market-
ing management with 70 percent
marks. She has secured 56 per-
cent marksin B.A. She has also
secured 50 percent marks in the
selection examination and 45 per-
cent marks in the selection in-
terview.

Samir Phukan has been working
In the marketing division of an
Organisation for the past five
years after completing his post

J

66.

67.

68.

graduate diploma in management

with 65 percent marks. He has

secured 60 percent marks in

B. Com. He has also secured 50

percent marks in both selection

examination and selection inter-
view.

Nimisha ‘Pati} '%las secured 59

percent ma!ﬁin B.Com. She has

also securéd 50" percent marks
in both seféction
thé selection iffteriew She has
bgéh working as Market-
i‘geM anager in an @rgonaisation for
wthe past three years after com-
pletigg her post graduate degree

£ in marketing management with

63 percent marks.

?O. Sadashiv Ghatge has secured 60
percent marksin B.Com. He has
been working for the past five
years in the marketing division
of an Organisation after complet-
ing his post graduate degree in
marketing management with 68
per cent marks. He has secured
35 percent marks in the selec-
tion interview and 62 percent
marks in the selection examina-
tion.

Directions (71-75) : In each
question below is given a Statement
followed by two assumptions numbered
I and Il. An assumption is something
supposed or taken for granted. You
have to consider the Statement and the
following assumptions and decide
which of the assumptionsisimplictin
the Statement.

Glve answer (1) if only Assump-

tion I isimplicit.

Give answer (2) if only Assump-

tion Il is implicit.

Give answer (3) if either As-

sumption | or Assumption Il isimplicit.

Glve answer (4) if neither As-

sumption | nor Assumption Il is im-
plicit.

Give answer (5) if both Assump-

tions1 and Il areimplict.

71. Statement: The largest domes-
tic airlines corporation has an-
nounced new summer schedules
in which more number of flights
in trunk routes are introduced.
Assumptions:

I. Mbre number of passengers
may travel by this airlines
corporation during summer
months in trunk routes.

69.

amination and
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72

increase

73

74.

75.

11 Other airlines companies may
also increase the number of
flights in al the sectors.

Statement: The chairman of the

11. Otherairlines mber of
flightsinall thecompanies may
the nu sectors.

Statement: The chairman of the

Company decided to hold a grand

Function to celebrate silverjubi-

lee during the next weekend and

invited a large number of guests.

Assumptions:

I. The Company officials may be
to make all the neces-
preparations for the sil-

jubilee celebration.

Il. Majority of the guests invited
by the chairman may attend
the function.

Statement: The largest Computer

manufacturing Company slashed

the prices of most of the desktop
models by about 15 percent with
immediate effect.

Assumptions:

I. The Company may incur
heavy losses due to reduction
in prices of the desktop.

Il. The sales of desktop manu-
factured by the Company may
increase substantially in the
near future.

Statement: The School author-

ity decided to rent out the school

premises during Weekends and
holidays for organising various
functions to augment its res
sources to meet the growin

needs of the school. %

Assumptions:

I.  The parents of the sch@ol stu-
dents may protesr,ﬁg nst the

« decision of the schooauthor-
oz oo

Il.#There may not be enmbug
demand for hiring the sthoo
premises for organisingfunc-
tions. @

Statement: The local civi c body

has urgeﬂrall the residents to

voluntarily reduce consumpti

ROt g LS d P difde
centeish EY‘?H % WatehE %S
Assympt

Il Manygctlylsts may welcome
the civic*body's move and
spread awareness among
residents.

Directions (76-80) : In each
question below is given a Statement
followed by two courses of action num-
bered | and II. A course of action is a
step or administrative decision to be
taken for improvement, follow-up or
further action in regard to the prob-
lem, policy, etc. On the basis of the
Information given in the Statement, you
have to assume everything in the State-
ment to be true, then decide which of
the suggested courses of action logi-
cally follow (s) for pursuing.

Give answer (1) if only course of
action | follows.

Give answer (2) if only course of
action Il follows.

Cour ses of action

I.  The management of the aom
pany should immediately put
on hold all activities in the
premises tili afool proof &
curity System isin place.

Il. The belongings of al the
workers should thoroughly
be searched before they |
the premises of the 5

Statement : A huge tidj wad!

swept away many fishing

79.

and hutments of'theflsherm L]

living along th astline. "= r’

Courses of action:

I.  The fishafmen should hee
fofthbe restrai‘ed?rom an

Give answer (3) if either course ®.strueting their hLFsaiong the.
of action | or Il follows. oast'line.

Give answer (4) if neither coun:qe\ he $ocal administration
of action | nor |l follows. Y should send a team of dfi-

Give answer (3) if bothf€ourses cials to assess the extent of

of action | and |1 follow

76. Statement : Ther
sporadic cases of st@ne throwihg
and damaging vehicles in the lo-
cality during the day followifig
altercation between two loc
youth clubs Iast night.

Courses *;
I. Thelo lice administr

ould arrest all thos
53

e caught committing
ese acts.

ww “The local police administra-
tion should call a meeting of

ave been

i I:L office bearers of both the
¢ clubs of the locality to bring
# % the Situation under control.

¢Statement: A huge truck over-

% | turned on the middle of the main
road and blocked most part of the
road causing a huge traffic jam.

Courses of action

I.  The traffic department should
immediately deploy its per-
sonnel to divert traffic
through other roads.

II. The traffic department should
immediately send men and
equipment to move the truck
and clear the road.

Statement: Some workers of the
Company making diamond
jewellery were caught while they
were leaving the premises as they
were trying to smuggle small
pieces of diamonds hidden in their
purses.

78.

damageand suggest remedial
measures.
Statement : A large number of L
invitees who attended the mar- i
riage function fel ill due to fo
paisoning and were rushed to
rious hospitals located in the
T area.

Courses of action

. The government should ben
such marriage functions till
further notice.

Il. Thelocal hospitalsshould be
advised by the government to
provide best Services to the
affected people.

Directions (81-85) : Bdow is

given a passage followed by severall
possible inferences which can bei
drawn from the facts stated in the pes-

sage. You have to examine each infer-

ence separately in the context of thel
passage and decide upon its degree df
truth or falsity.

Mark answer (1) if the inference
is 'definitely true', i.e. it properly fo-
lows from the Statement of facts given.

Mark answer (2) if the inference
is 'probably true' though not ‘definitely
true' in the light of the facts given

Mark answer (3) if the 'data ae
inadequate’, i.e. from the facts gven
you cannot say whether the inference
is likely to be true of false.

Mark answer (4) if the inference
is 'probably fase", thought not dofi-
nitely false' in the light of the facts gven

80.

www.examrace.com



~ Mark answer (5) if the inference Directions (86 - 100): In each of the questions given below which one of
is 'definitely false' i.e. it cannot possi- the five answer figures on the right should come after the problem figures on
bly be drawn from the facts given or it the left, if the sequence were continued ?

contradicts the given facts. Problem Kigurci» Aasv7crEiiu.es
Asia has become the growth cen- : T

tre of the world economy in recent . TTTT lnl TulTlTllIlT llTl‘HlT rl”lln’ﬂll
years. Within the region, India and ) A
South Korea are the third and fourth (1 2 {3) {4 5
largest economies after China and Ja- EU-2a+vi[ 2 vlas oo ass ZeUA[Z CU-jzou |fonez GcU=
pan. Though the Asian growth stories g7. |vasv|ucz-lenocasvalcz=u Do=-e|00celc one]a s vamone
mainly revolve around Indiaand China, " koocolpeqolc u=zlzeu=ls axv vsAwis AsvivsaxlzcUslvsasl |
South Korea has remained a key player (@ @3 @ (6
far these countries as one of their ma- 5 & Sz AT TP CF O XE OXP OV X
jor trading and investment partners. 8s. N 2 5 2 . P 2 " N o
South Korea adopted outward-oriented z nzlDoal’aDol/AAFPS SARVS A PLS APYS PAS 4P
economic policies with the beginning VE\EJLV ; ﬁlv (3) wi‘:\): - v(\i\lv
d, its first five year economic develop- v v VIV v [VIVVIVY W PG PR
ment plan in 1962 which resulted in 89. T) 2o (_'c_0>cc cnccoéacocc :v.:ccoc?.;— Lcoc!ﬁ-:ﬁ:&vcn ofoce C‘CNCQ
high growth and the integration of the : = Ll R
Koreen economy with the rest of the {1) (2 3 (5)
world. Subsequently high and consis- s= Y SEOASEOAN = [ZO0 &S Fp s = s =75 =
tent economic growth made South Ko-  gg. (¢ @ A * o|o A sjx ool + o] oo o Aopsolodoinso
rea one of the high-income economies saguoang=s W=shges M=sksolksolarnolan
isAda Koreais still growing at a faster 1) (@) @3 (5)
rate compared to other developed v s = A v u ¢ o o d
economies. India on the other hand, 91. |* = & 2 =|® @ OO s oA » ¢ ¢ AxooDf A « Ot A
adopted an import Substitution policy = =! A ¢ o o [ A 2 = =
since its Independence until the early (@ @3 @S
1990s. Since then India has introduced ir:"’ Sl o P Cu* Pc *EJC L =
wide-ranging economic policy reforms  92. | & N Ao‘:II na °=° A &= A o &
and is moving towards markel-driven o & 2 A = o e el o
economy. This has resulted in consis- ~ (H (2) (3 (4} (5)
tent high economic growth overlhe last * O AA O GV A w0 Sl Ay V=D oclc oqgveooac
one-and-a half decade. 93.‘°=5v-aocuocnos- i R halel Calitiiel il
_ _ D v cle s Ol=n sfvo=ft ap . OClt =AD=ylp= )3 A0
81. Only Korean economy is consid- e (@2 @ @ (o
ered as robust by the interna- TR =z o[ =7 T * Z]R  U[%x  Upx =&
tional Community. VL oog R MY—S 2 —F Ul j# ilz L
82. Japan's economic growth ovér the o . v «ls mlv o u s __Am oz o]z slw s
last decade is the highestinﬁﬁia_ N (1 @2 @ @ ©®
83. The Korean economy.is traditfon- i
aly different than jthe Indias |95, |[ROusEfoBsDE[EDSBOjDPRVO|OVEPE woxepjywrxDjviwxrolvorxo|vwreD
economy in its approach.
84. The ecgnomic g;'pd ih of India (1) (2} 13 (5)
“prior.of 19905 was mush higher *ZOS[UNMOIWO=AZ CLUOC U B8 CWA=[xI=A|0*L§|o* 2L UL =
96. {0 clo Al Y . 5|z u L uiD cjo Alo Ao A
5((hanthepresentgro r%\i. =AIUSCZ:~0$CZA*0I=A-D‘ sozcloswulmmuclsm clsmac
85! India and China togethell are gon- (1) 2) 3 (4) ()
sidered the driving forc@ of Asian
economy. 97. O_Ji' >Ec n.]{ a b li é_d a__p >[4 %—o >L_<,
" ‘ @ 3 @[5
= O[&. =[N U= EY] [t N C 1 tF ; )]
fr 08 ‘C*D M U*CD o _A*C S O*‘D UN-’*‘ a] I_J-*D‘G 0_* v U*=|;AG 't=a o U-"“ a
¢ Pofo Onfo oy ol ¢ pio *of ‘b Pgle °
m 2 @ @ (G
* =] 5 = * = =] - 0 =
'"r. 99.DO=S=*Ou=tOSO=D s O *s = |0 O wf= s *fx 0 s
] 5] w u] $ 0 0 5 |w] [u]
(1 2y 3 @ (5
0O e av |0 Ulw |6 wC {= v]O [ & [ B¢ oJo Vil v Gf¢ Q
100. ¢ = * A A w v = & & n B ] A *
v o ke U s o v el U 1
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QUANTITATIVE APTITUDE

Directions (101-105) : What
should come in place of the question
mark (?) in the following questions ?

101. 7960 + 2956 - 8050 + 4028 = ?

(1)5 p.c.p.a. (2)4 p.c.p.a
(3)6 p.c.p.a. (4)8 p.c.p.a

(5) None of these

If the numerator of a fraction is
increased by 150% and the de-
nominator of the fraction is in-
creased by 350%, the resultant

112.

114.

(1)5040 (2)2540

(3 5080 (@) 2520

(5) None of these

Meenal purchased a car for
Rs. 2,50,000 and sold it far
Rs. 3,48,000. What is the pa

(1)6984 (2)6884 cent profit she made on the car?
(3)6894 (4)6954 25 . o (140 (2)39.2
(5) None of these fraction is 51 what is the origi- (3 38.4 4) 38

(5) None of these |

102. 25 x 3.25 + 50.4 + 24 = ? nal fraction ? r

(1) 84.50 (2) 83.35 11 115. Theregre ?ome pa]}rr g De

(3) 8353 (4) 8245 (1) — (2] —_— tlgel’SIn aforest. If t tot

(5) None of these 15 ber of animal heads in thefforest
103. 350% of ? + 50 + 248 = 591 13 are 858 andiotal numbef of e

B 4 15 mal legs 1,746, what js'the

(1) 4900 (2) 4890 number offparrots in the farest ?

(3) 4850 (4) 4950 (5) None of these (1)845 - (2)83(3

(5) None of these 113. In how many different ways can 8

1 the letters of theword 'BANKING' “ @ cpannot be detérmined
104. 5 of 3842 + 15% of ? = 2449 be arranged ? A (5) Nforie of thes

(1) 3520 (2) 3250 Directions (116 - 12 "Stu the foll wnng ‘able carefully and answer

(3) 3350 (4) 3540 the questions given bel owf it

(5) None of these Number of Enter tiai m nt Sho sheld in variouscitiesin ayear
105. (833.25 - 384.45) + 24 = ? mber Hundreds)

(1)1.87 (2)20.1 I Shows

(3)2.01 (4)18.7 " : —

(5) None of these Cities Dance[ Musi rama Stand up Comedy | Mirnicry

Directions (106-110) : What M 15 21 24 0.8 0.9
should come in place of the questioi N 12.4 6 2 0.5
mark (? in the following number se ) 5.7 8 12 0.3 0.2
ries. P 1.3 6§ 18 1 15
108.325 314 292 259 215 ? ‘_é 17 12.4 11 3 0.4

(1)126 (2)116 R 14 10.5 9.8 0.7 0.1

(3 130 @ 160 .i 3

(5) None of these
107. 45 46 70 141 ? 1061.5

##6." The mirnicry shows held in city
M arewhat per cent of the drama

city N to the number of drama |
shows held in city R ?

A shows held in city O ? Q) 49:62 (9 49:51
s s < QRGOS
(5) None of these _ | ( d 6.5 @ 8 (5 None of these

108. 620 632 608 6441596 2 =

‘-‘I

(5) None of these
117. What is the average number of

120. What is the total number of gand |

up comedy shows held in dl the

(1)536 (42’}5.5 entertainment shows hel'd in city cities together ?
@656 @b P 7 (1) 820 @ 740
5)=None of these (1) 756 (2 678 ® 780 (4 810
1094 15 25 40 65 ? “185 (3 786 @ 698 (5 None of these
- (1115 (2)90 (5 None of these 3
(3) 105 4 120 118. 1f th ; i is
. e number of music shows in  121. By how much is 7 th of 968 less
(3)'None of these cities N and Q is increased by
110. 120 320 ? 2070 5195 13007.! 5%, what will be the total num- 7
(1)800 (2)92 ber of music shows in both the than g th of 1008 7
(3 850 (4) 90 cities together ? (1) 154 (2 146
(5) None of these (D 2,602 @ 2,667 () 165 @ 158
111. Sonikainvested an amount of Rs ® 2,540 4 2,605 (5 None of these
5,800 for 2'years. At what rat (5 None of these 122. There are two numbers such that

of Com'p d interest will she ge
an amount of Rs. 594.5 at th
end of two years ?

119. What is the respective ratio of the
number of dance shows held in

the sum of twice the first num-
ber and thrice the second num-
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ber is 100 and the sum of thrice
the flrst number and twice the
second number is 120. Which is
the larger number ?
@ 32 @2 12
@ 14 4 35
(B None of these

123. When all the students in a school
are made to stand in rows of 54,
30 such rows are formed. If the
students are made to stand in the
rows of 45, how many such rows
can be formed ?
@ 25 @ 42
3 36 4 32
(B None of these

124. The ratio of the present ages of
Anju and Sandhyais 13 : 17 re-
spectively. Four years ago the
respective ratio of their ages was

Directions (126-130) : Study the following graph and t

125.

and answer the questions given below it.

Percentage of Obese men, Obese women and Obese ¢
Statein various years

11 : 15. What will be the respec-
tive ratio of their ages six years
hence ?

® 3:4 @ 7:8

® 5:4 4 6:5

(5) None of these

The average age of 80 boys in a
classis 15years. The average age
of agroup of 15 boysin the class
is 16 years and the average age
of another 25 boysin theclassis
1l4years. What isthe average age
of the remaining boys in the
class ?

() 15.25 years

(2 14 years

(3 14.75 years

(4) Cannot be determined

(5) None of these
%
.
carefully

"4 B
dren ‘1 a

—@— Obese men —$—0Obese women -2 Ohese children

E 40
[
;2 35 - e
BS 30 —=—"7\ S L
v > o
¢% 25 N e
23 O N
©° 29 VAVEY T e
53 ST
o 15 AN yd N\ N
W . iy W,
58 — -
Lo
gE 5
Dy
ol S } A ; ; ; by
3 2004 2005 2006 2007 2008 2000
YEARS
-
Total Number=of Men, men and (1) 12,683 (@ 12,795
hildren in the State ove| years (3 12,867 (4 12,843
: 5 12,787
@rs | Men Wom Cﬂlldren 127. The number of obese men in the
2004 | 54,000 | 38,00 15,000 year 2009 was what per cent of
2006 | 751000 64,006 21,000 the men not suffering from obe-
=~ sity in the same year ?
2006 88,000 | 60,000 | 12,000
£ p @ 55 @ 60
2007 §| 66,000 | 54,00 16,000 @ 50.5 @ 65.5
2007 § 70,000 | 68,000 | 20,000 (5 None of these
2009 ,000 | 75,000 | 45,000 128. What was the respective ratio of
- the obese women in the year
126, Whet the approximate av- 2006 to the obese men in theyear

erage of obese men, obese women
and obese children in the year
2007?

2008 ?

@ 6:7 (@ 21:65

(3)15:73
(4)48:77
(5) None of these
What is the difference between
the number of obese women and
obese children together in the
year 2006 and the number of
obese-men in the same year ?
(1) 5,475 (2 54ir4s .
(3 5,045 @
(® None of these L ]

What was the tetal nugiber of
children fiot jsufferinggfrom obe-
sity in t?a year 2004-and..2005

129.

130.

togethef?
(1) 4,350 (2 131,560
(3)p 4,530 @ 31,650
4. _(5) None of t?ese
‘ Dif eetion (131-135): Study the
following{lnformation carefully and an-
swer the |[questions given below it.
Out of the 15,000 candidates €li-
gible for an Officer's Post in a Public

Sector ‘Bank, 450 candidates have

prior experience of working in Public

Sector Banksinrral areas only. 25%

of the total number of cuandidates have

priorexperienceo f i n gworkinPublic

ector Banksin urban areasonly. 12%

of the total number of candidates have
prior experience of working in Private
Sector Banks in urban areas only. 2%
of the total number of candidates have
prior experience of working in Private
Sector Banksin rural areasonly. 3,600
candidates have worked in Public Sec-
tor Banks in both urban and rural ar-
eas. 15% of the total number of candi-
dates have worked in both Public and
Private Sector Banks in urban areas
only. 600 candidates have worked in
both Public and Private Sector Banks
in rural areasonly. The remaining can-
didates have no prior experience of
working in the Banking industry.

131. How many candidates have prior
experience of working in rural
areas (both Public Sector and
Private Sector Banks together) ?

1) 4,350  (2) 4,950
(3 4,800 (4 4,900
() 4,850

132. How many total candidates have

prior experience of working in
Public Sector Banks (Urban and
Rural areas together)?

(D 12.450 (2 8,400

3 10,050 (4 10.650

(5) None of these
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133. What isthe respective ratio of the (D 1.800 (2 2,250 141. What is the average number of
candidates who have a prior ex- (3 4,050 femalesin all the universities to-
perience of working in Public (4 3,600 gether ?

Sector banks in rural areas only (5 None of these (1) 33,00,000 (2) 3,50,000
to the candidates who have a . : (3 3,20,000 (4 32,00.000
rior experience of working in 135. The candidateswho have no prior (5) None of these
FF)>riva1e Sector banksin rural ar- experience of working in the 142, What isthe total number of st
lv 2 banking industry are what per dents (males & females tog )
eas only cent of the candidates who have in universities P and R togethet?
D 4:3 @ 3:2 worked in Public Sector banks in (1) 13,00,000 (2) 13,50,
@ 2:3 (4 3:4 both urban and rural areas to- (3 14,00,000 (4) 1,45,00,000%
(5 None of these gether ? (5 None of these - |

134. What is the total number of can- (1) 60.5 (2 63.5 143. What isthe respegtive ratio of %

didates who have worked in Pri- B 62 @ 64

vate Sector banks in urban ar-
eas? , [

Directions (136-140): Study the following table carefully and answer the

sities P and Q@ together to the
number of males in the unjvers-

tiesRand T toget?r ?
Q2R e @%7528

number of females from unive-1 .
(5) None of these

questions given below it. (3 25% 28 ) 2(: 27
Percentage of Marks Obtained by Various Studentsin Various (5) fNone’of these ] ]
Subjectsin an Examination - J\144- Theéinumier of males in univer-
M - sity Q are what per cent of the
MARKS total number of students (mdes
. . . . ] & females together) in universly
Students | English Hindi Science | History | Maths graphy S92
out of out of out of out of out of out of (1) 68 () 62
100 100 150 60 150 40 @ 66 @ 64
A 68 s 82 60 96 | 55 L 145 I(fS)th’\éotnoetaIOf H:Jensf)er of malesin
B 88 73 85 65 88 65 ' upiversity T increases by 50%.
c 75 56 72 75 75 80 | e dvhat would be the total number
D 70 66 80 80 472 62 of tsrt]ucie_nt?h(rr;ale_s& f_etme'l?esto
gether) in that university *
E 2 60 .68 4 68 S (1) 75,26,000 (2) 7,62,50,000
F 85 70 90 70% LA 74 70 (3 76.25.000 (4) 7.52,60,000
136. What is approximate overall per-  140. V\A\i is the average marks ob- (5 None of these

centage obtained by C in the ex- Lained by all the studentstogether Directions (146-150) : What

amination ? in Science ? approximate value should come in
’ . place of the question mark (? in the
@ 78 2 69 - A & @) 77.16 (2 120.50 following questions ? (You are not ex
3 75 @ 7 j RO 118 @ 121 pected to calculate the exact value).
© 65 (5 None of these 146. 57% of 394 - 2.5% of 996 = ?
137. What is the differencejin the “Directions (141-145): Study the (1 215 @ 175
marks obtained by B in English fellowing Graph carefully and,answer (3 200 4 180
and Maths togethem and the the questions given below : (® 205
marks obtained by FTh ifjle same  Number of Students Studyingin 47 gf'gggox 9'6692+ %?g =?
subjects ? o’ different Universitiesin a year 8 1020 E4; 940
D24 @ 17 (Number in lakhs)
(5 1100
3 15 4 28 3 Males a 1195
(5 "None of these K Fcmales 148, —X——rex7=?
138. The marks@btained by Ejfn Ge- = 45 5 1228
ography arewhat per cent of the % 40 8 g % 22
marks opftained by E in Hindi ? 3 an
L 35 G 15
(1) 45 (2 55 2
@ 50 @ 60 2 149. (/339 x25)+30=2
8 or
() Non'ag these 3 20 @ 12 @ 15
139. What isth@ overall percentage of & 3) 24 A 21
: b . 3 @
marks obtéined by D in History g 1% | G 9
and Geography together ? E 1o 150. (638 + 9709 - 216) +26 = ?
(1) 73.40 (2) 72.80 g ° (1) 275 (@ 365
(2) 7No.50 - (4) 68.80 z obp—c— A 8 ggg 4 300
() None of these UNIVERST IES
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ENGLISH LANGUAGE

Directions (151-165) : Read the
following passage carefully and an-
swer the questions given below it.
Certain words/phrases have been
printed in bold to help you locate them
while answering some of the questions.

There are various sectors in In-
dia that are to be assessed for their
strengths, weaknesses, opportunities
and threats.

The total population isover 1 bil-
lion which will increase to 1.46 billion
by 2035 to cross China. The huge
population will result in higher unem-
ployment and deterioration of quality.
Literacy, in Indiaisyet another factor
to be discussed. According to 1991
census, 64.8% of the population was
illiterate. The major downtrend of edu-
cation is due to child labour which has
spread all over India and this should
be totally eradicated by way of sur-
veillance and agood educational Sys-
tem implemented properly by the Gov-
ernment.

Pollution is one more threat to the
environment and for the country's
prospects. This has been experienced
more in urban areas mainly in metro-
politan cities. The water pollution by
the sewage seepage into the ground
water and improper maintenance will
lead to various diseases which in turn
will affect the next generation. In most
of the cities there is no proper sew-

has nearly 400 million people living
below the poverty line and 90% of ac-
tive population is in informal eccnomy.
The children are forced to work due
to their poverty and differential caste
System. They work in match industry
for daily wages, as servants, mechan-
ics, stone breakers, agricultural work-
ers, etc. To prevent child labour. ex-
isting laws which favour the Anti Child
Labour Act should be implemented by
the Government vigorously.

More population results in cheap
cost by virtue of the demand supply
concept. Most of the foreign countries
try to utilize this factor by outsourcing
their businessin Indiawith avery low

capital. According to U.S., Indiais a

"Knowledge pool" with cheap labour.
The major advantage is our communi
cation and technical skill which |
adaptable to any environ
cutting edge skill in IT of Profes-
sionals helps the outsour€ing carnpa-
nies to commensur ate With the feeds
of the consumers in a short span§ The
major competitors for lihdia are Chin
and Philippines and by the way

effective communication and ex
technical ability, Indians are ahead of

«the race. The% r Metropolitan st 4
are targeting %uat'sourci ng field Wig-
orously by giying various amenities to

the out’ﬁuréﬂg companies like tax
conc?si n,"allotting land etc.. tofstart
their lfinesses in its cities without
any™hurdles. Thereby most of the
MNCs prefer India as their destina-

age disposal. The Government has to ! n:ons and capitalize the resources to

take effective steps to control popﬂ"ra—
tion which, in turn, will minimize ()e
pollution.

Poverty questions t)‘%

strength of India's politi
minimizes the energeti

entire
| view and
y of ap-

proach."The'shortfall of rains; enor-
mous gfloods, unexpected fine,
drought, earthquake and thel recént

tsunami hit the country in a flegative
way. The proactive approach through
effective researeh and analytical study
helps us te determine the gffects in
advance. Proper allocation of funds is
aprerequisite. In developed €ountries
like. U.S., Japan precautionary meth-
ods are adopted to overcome this, but
1t has to be I'mMiproved alot in our Sys-
tems. -

Increased pcﬁulation is one of the
major reasons for poverty and the
Government is unable to allocate funds
for basic needs to the Society. India

i rpalz(imize their assets. Infrastructure
is "another k eyfactor for an
olitsourcing Company to start a busi-

L ness in a particular city. 1t includes
road, rail, ports, power and watcr. The
increased input in infrastructure in
India is very limited where China's
record is excellent.

India in earlier days gave more
importance to the development of in-
dustry and less importance to other
departments. But the scenario has
quite changed now-a-days by allocat-
ing a special budget of funds for se-
curity. This is because of the fright-
ening increase in terrorism al around
the world especially emerging after the
9/11 terror attack in U.S. In the last
ten years, budget towards the devel-
opment of military forces is higher
when compared to others. It shows
that the threat from our neighbouring
countries is escalating. India has to

t. Thes

concentrate more on this security lac-
tor to wipe out the problem in the way
of cross-border terrorism.

Making India, a developed coun-
try in 2020 is not an easy task. India
has to keep in check avariety of fac
tors in order to progress rapidly. To
guote China as an example is that they,
demolished an old bt'ilding fe
strnct a very big port to rmeefi future
demands, but Indiais still Weaitingfor

things to happen. The profits g?péd i
by India through various sectogs ag |
to be spent for the.development,
welfare of the country! India's vigtis
for a brighter path'will come, true not

only by mere wordsyorgspeech, but
extra_gffort peeded atall levels to over-

come t e.pip",ql'ls. F
151. Which of the following, accord-fl

ing toythe author, is/are a
result(s) of increased population
in India?

(™) Pollution

(B) Poverty
(© Unemployment
(1) Only(A)
2) Only (A) and (B)

/'23) Only (B)

(4 Only (A) and (C)
(5) All (A),(B) and (O)

152. Why, according to the author,
has the Indian Government d-
lotted more funds to strengthen
the military forces ?

(1) To improve security in order
to counter increasing terror-
ism

(2) As the security in India over
the past ten years was grosdy
inadequate

(3) Asthe U.S. too has strength- .
ened its military forces dfter
the 9/11 attack

(4) Asthe industry is developed
enough and is not in need of
any more funds

(5 Noneofthese

153. What is the author's main objec-
tive in writing this passage ?
(1) To exhort the Government to

garner support from its
neighbouring countries

(2 To suggest to the Govern-
ment to follow China's ex-
ample blindly thereby bring-
ing about rapid development

(3) To highlight the plight of the
poor
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(4 To discuss the problems of
child labour and suggest suit-
ableremedies

(®) To bring forth the problems
associated with the Indias
development and to suggest
measures to counter them

151 Why, according to the author, is
India one of the favourite desti-
nations for investment by
outsourcing companies ?

(A) Shorter response time for Cli-
ents

(B) Better technical skills

(© Availability of cheap labour

@ Only(C)

(@ All (A), (B) and (C)

(3 Only (B) and (C)

(4 Only (A) and (B)

() Only (A)

1% Which of the following is/are
true in the context of the pas-
sege?

(A) India leads the way in the
amount invested in the deve -
opment of infrastructure.

(B) Politicd Sysgemin Indiaisnot
influenced by poverty

(© Indian population would in-
crease by approximately 50
per cent in the next twenty

five years.
(1)Only(A) and(B) i i
(@ Only (B) < _ %
3 Only (C) ( 1~
(@ Only (B) and (C) r

(® All (A), (B) an(;lt\?) i

15% Which of the f ingis/arethe
fa:lllty(ls) eto MNCsin-
vedting in Indla

(A) Ezsy availabili
(B) Better infrast lAct e than

(C) Tax Cono
(1) Only(C)
"@All(A),(B)and (O)
3) Only (A) and (
Only (A) and (
None of these
ch of the following, accord-
ingrto the author, isaresult of
povi inIndia?
(D) Lack of arobust security Sys-
tam
(2 Child labour and the result-
ing dearth of educated youth

(3 Floods, famines and other
cadamities

157

(4) Rapid increase in population

(5) None of these

How, according to the author,

can the effects 'of floods, fam-

ines, drought, etc. be mini-
mized ?

(1) By limiting pollution thereby
reducing the chances of such
eventstaking place .

(2 By educating the children
about the ill effects of such
calamities who in turn Will
help during the time of need

(3) By following the U.S. System
of providing relief to its Citi-
zens g

(4) By allotting pro erffun

158.

for

ties and
measure

(5) None of

the word/group'of words
most similar in meaningtot

group ofwords printed in bold
inthe g{
159. VEILLANCE 167.

| (fpylng (2) cameras

‘ security  (4) Observation
j (5) alertness

160 PREREQUISITE

(1) result (2) association

(3) necessity (4) factor

(5) mystery

PROSPECTS

(1) assimilation

(2 demand  (3) future

(4) brochure

(5) diagnosis

COMMENSURATE

(1) match

(2) extracting

(3) contemplating

(4) request

(5) employing

Directions (163-165) : Choose

the word/group of words which is

most opposite in meaning to the

word/group of words printed in bold

as used in the passage

163. LIMITED

(1) abundant

(2) complete

(3) flowing

(4) inadequate

(5) encompassing

161.

162.

164. DIFFERENTIAL
(1) solitude
(2 homogeneous
(3) synonymous

(@ unique (5 dﬁf{ent
165. VIGOROUSLY

@ Simply (2) ly

(3 roughly

(5) lenien Iy

Directjlons (166 - 17D Which
of the phrases (1), (2), (3) and*(4) glven

below shoild re%ac%the phrase given
in bold in the following sentence to
ake | meanmgft;rand grammatlcajly
c{rrecf" If the sentence is correct as

is and'no correction is required mark
(5) as the answer.

166."Banks Charge differently rate of
interest depending on the size
of the loan.

(1) difference in rate of interests

(2) differently what rate of inter-
est

(3) different rates of interest

(4) the different rate of interest

(5) No correction required

It is necessary that we take any
steps to reduce pollution soon.

(1) we should take every

(2) we have taken no

(3) us to take any

(4) we take some

(5) No correction required

It is too early to say how the

impact the new tax will have on
investors

(1) what impact

(2) that the impact

(3) how much impacts

(4) what are the impacts of

(5) No correction required
Kindly ask his advice regarding
the various health insurance poli-
cies presently available.

(1) him to advice that

(2) regarding his advice

(3) that he should advice

(4) about his advice

(5) No correction required

Unfortunately many of our lowns
and cities do have more good
transportation System.

(1) have agood

(2) not have good

(3) not have much good
(4) not having better

(5) No correction required

168.

169.

170.
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Directions (171-175) : Rear-
range the following six sentences (A),
(B), (C), (D), (E) and (F) in the proper
sequence to form a meaningful para-
graph; then answer the questions
given below :

(A) With all the bid information be-
ing available and tracked online,
corruption has considerably re-
duced.

(B) Today, most i.e. over ninety-flve
percent household, in the city
enjoy broad band connection.

(© All city contracts are now bid for
online

(D) Over twenty years ago the city
government, central government
and the private sector made a
concerted effort to shift the
economy to include IT

As our cities to expand and be-
come more complex, such a Sys-
tem will make governance more
manageable

This level of connectedness has
changed not only the city's
economy but also how it is gov-
erned and how businessis con-
ducted.

®

®

171. Which of the following should be
the FIRST sentence after rear-
rangement ?

@A (@B
@ C @D
® E

172. Which oflhe following should be
the SECOND sentence after re-
arrangement ? w
@ A @ B < 8
@ C @D f
o6 F / |

173. Which of the followmgjwuld be
the THIRD senten(‘:‘? ter rear-
rangement ? ‘

A @ C
@ D @ E "\\
f

174. Which of the following should be
the EIFTH sentence aft r rear-
rangement ?

WA = (@8
@ C @D
6 E .
175. Which'ef the following should be

the LASF (SIXTH) sentence &f-
ter rearlan%gment ?

@ B @ C
@D @ E
© F

Directions (176-185) : Read
each sentence to find out whether
there is any grammatical error or idi-
omatic error in it. The number of that
part is the answer. If there is no er-
ror, the answer is (5). (Ignore errors
of punctuations, if any)

176. Some genuine issues exist (1)/
with the newly adopted (2)/ Sys-
tem and needs to (3)/ be exam-
ined seriously (4).' No error (5)

177. Whether or not to confront (1)/
them about their role (2)/ in the
matter is a decision (3)/ which
isyet to take (4). No error (5)

178. Thegovernment is still in the (1)/
process of finalized new policy
(2)/ guidelines for the allocation
of land (3)/ to private sector or-
ganizations (4). No error (51

179. According to governmen astl
mates (1)/ at least fo

cause of the poor
No error (5)

(1)/ value things that they fav.
to (2)/ pay off more than tha$e
that (3)/ they receive free of cost
(4). No ﬁor (5)
181. At prese hina is the (1)/
%s ader manufacturer(2)/
of nment friendly products
such as electric cars and
blcélcles (4). No error (5)
182. Over eighty per cent from us (1)/
feel that if we had taken (2)/
some corrective measures ear-
' # % lier (3)/ the crisis would have
been averted (4). No error (5)

-

1&3. The manager of that city branch
(1)/ cannot handle it with the
help of (2)/ only two personnel
as (3)/ business has increased
substantially (4). No error (5)

184. With theliieracy ratesin this (1)/
region as low as ten percent (2)/
we need to encourage (3)/ local
people to build schools (4). No
error (5)

185. While providing such facilities
(1)/ online makes ii convenient
(2)/ and easily accessible for
customers (3)/ we face several
chaHenges (4). No error (5)
Directions (186-190): In each

question below a sentence with four

words printed in bold type is given.

These are numbered as (1), (2), (3) and

(4). One of these four wordt printed
in bold may be either wrongly speit
or inappropriate in the context of the
sentence. Find out the word which is
wrongly speit or inappropriate if ay.
The number of that word is your an-I
swer. If al the words printed in bdd
are correctly speit and also approprl-
ate in the context of the sentence, markS
(5) i.e. "All correct as your an R |

186. The bank's fluctuatin )//JH—
formance over the priof (2)
has been a mﬂor (Wcau% |
for concern, correct (5)

187. An economyjifelies (1)/ ort jufl
access (2)/ to'dependable (3
affordable"@) sources of anergM
All c'priect 5)

188. 'R‘esc:arches havf" used datal
pgevalen't(l)/ to manufacturing
mpanjes to illustrate @/ the
harmful'(3) impacts(4) of techno-
nology on the environment. All«

correct(5)

189. Such aSituation (1)/ is nether
feesible (2)/ nor desirable (3in
a democratic country like ours
(4). All correct (5)

hegradual (1) /withdrawal (2)/
of such safety (3) mechanisims
(4) will affect small and medium!
industries the most. All cor-
rect(5)

Directions ( 191-200) : In the
following passage there are blanks.
each of which has been numbered.
These numbers are printed below the
passage and against each. five words
are suggested, one of which fits the
blank appropriately. Find out the ap-
propriate word in each case.

The world's climate has dways
changed and species have evdved
accordingly to survive it. The surprisfl
ingfact about the (191) between e
lution and global warming (192) tha
it is not liner. (193) temperatures done
are not (194) of evolution. Evolution
is also the (195) of seasonal changes
As the environment (196) those spefl
cieswhich don't adapt (197) to exis. 1
But the sheer (198) of manmade di-
mate change today is (1991. Bad
things are happening' and by one (200)
global warming could threaLen upto
one-third of the world's species if left
unchecked. In fact a lot of the ge
cies which will be able io survive are
the ones we consider pests like insectd
and weeds.

190.
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191.

192.

193.

194.

. (1) results

(1) difference (2) similarity
(3) argument (4) relationship
() alllance

(1) being (2) seema
(3) mainly (4) besides
O is

(1) However (2) Mounted
(3) Rising (4) Elevating
() Inclining

(1) means (2) triggers

(3) responses (4) threats
(5) Stimulus

(2) precursor
(3) resistance (4) cause

(5 provocation

.|(1) conserves

(2) stilles
(4 changes

(3) predicts
(5) emerges

.I(hcontinue  (2) halt
(3) cease (4) terminate
(5 discontinue
.1 (D) luck
(2 value (3) collapse
(4) pace (5) attention
.| (1) threatened

(2 pursued
(3) unprecedented

(4) record (5) debated

.| (1) forecast (2) chance
(3) pattern (4) occasion
(5 imagination

’ 1

¢
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ANSWERS 65.(2) | 66.(1) | 67.(1)| 68.(1)
69.9 | 70.4) | 71.()| 72. (5

10, 20| 30| 40 73.0Q| 744 | 75.06)| 7.0
5@ 6Q| 70| 8@ 77.5| 78| 79.(5) 80.(2
9@ 10| 1.@| 120 8L(2| 823 | 8.(1) 8.
B@ 140 13| 160 85.()| 8.4 | 87.(5 88 (2
7Q)| 18Q| 19| 20.4 89.()| 90.(d | 91.(3| 92. (3
2@ 2.9 23.() 24.(9 9B.4| A 6| B (2 964
AHQ| 26.9| 27.9| 28.(2 97.(5 | 98.(3| 99.(1)| 100. (2
24| 30.Q| 3L(1)| 32( 101 (3) | 102. (2) | 103. (1)| 104. (1)
BODH A Q| 3B.@| 360 105. (4) | 106. (4) | 107. (2)| 108. (3
IO 3B.O| 391 40.0Q 109. (5 | 110. (5 | 111. (1)| 112 (3)
a4 42| 43.(9| 4.0 113. (4 | 114. (2) | 115. B} 116. (5
44| 4.3 47.(| 4805 117. (1) | 118. () | 110. '120‘(3)
90| 0.0 5LQ 2@ | 121|12@ M’; 124, (§)
BQ| 4@| 52| %0 125. (1) | 126. (3) | f27. @] 128, @
5.0 58.(1)] 59. (5| 60. (3 129. (1) | 130. @ f131 (2 [} 132 (&
6LQ| 624 63| 64 (1 133. () | 134 (9| 135. (5 @
137. () | 138. 9| 130. @ . 5

141 (1) | 142 (5) | 143 (| 14,4

145. W46 (3) | 147. (@) P8.(9)

149, (4 150. (5 | 151 (5)| . 152. (1)

153! (§) | 154. (2 | 155. (3| 156. (4)

i;ﬁ. 2 | 158. (4) | 159. (4)| 160. (3)

161. (3) | 162 (1) | 163. (1)| 164. (2)

< 1k 165. (4) | 166. (3) | 167. (4)| 168. (1)

( L+ 169. (5| 170. 3| 171. (@) 172. ()

’ ‘ 173. (5| 174. (1) | 175. (4| 176. (3

1. \ 177. @) | 178.(2) | 179. (1) 180. (3

of ‘ 181 ()| 182. (1)| 183.(5)| 184.(1)

- 2 185. (5)| 186. ()| 187. (5| 188. (1)
( !\\ 189. ) | 190. (@) | 191. @) 192. (5
193. (3)| 194. ()| 195. (2) 196. (@)

. 197. (3)| 198. (4)| 199.(5) 200. (1)

EXPLANATIONS
1. (2)33&? ME DAL
5% 2 # 4 #8387
Threefore,
GOLD
Swa3
2. 58 9 1[5 4 3 2|86
9 8 615 4 3 211}
3. BIB>E, D
A/C>B>E
A/C
AC>B>E D
4. {3}
how@are you—> 9@34
heis —> 25
The code for ‘he' is efther '2' or
‘5.
5. (4)
N
"""""""" w [
=z g {
& 2 ]
50 cm
6. (3)
1 2 3 4 5 3 2 15 4
BLACK ALBEQC
1 2 3 4 5 a3 21 5 4
SMART AMS T R
Threfore,
1 2 3 4 5 3 2 1 5 4
CLOCK °OL CKZC
7. (3
975311 86422
97531 86422
975831 8642
9 753

6 7 5 9

8. (2) According to question

3 4 1

4th from the right end

9. {4) Ris father of K, M and T.

J is mother of K, M and T.
The sex of K is not known.

L3
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10.

= 0

11.

12,

13

b

2)

2 3 4_,32 41

O N E N 0 E G [G]
2 3 4 32 41 :
0OAD ZA0DL [L]
Therefore,

2 3 4 3 2 4 1
O RT>R OT S [§]

@ 3
C

15142018119 20
ONTRAST

i {4
{3} Meaningful Worlds = REDQ,
RODE
{4} Urmila's grandfather's only
daughter may be mother or aunt
of Urmila.

" Again. the sex of Urmila is not

14.

15

16.

17.

18

19.

known.

(1)

Thus, there are 40 - (12+18) boys
between R and T.
40 - 30 = 10 boys
(3) According to Mohit his father's
birthday may be on lst to 18th
April.
According o Mchit's sister their
father's birthday may be on 18th
or 19th April.
Common Date = 18th April
(3j Highesl number = 846
Required sum => 8 + 4 =12
(2) 528 = 258; 739 = 379,
846 = 486; 492 = 942;
375 = 735
Second lowest number = 379
(3) 528 = 825; 739 = 937,
846 = 648: 492 =» 204,
375 = 573:
Third highest number = 648
3 W+ T=Wis mother of T
T -H = T is father of H.

Therefore, W is grandmother
of H.

W + T = W is brother of T.
T - H = T is father of H.
Therefore, W is uncle of H.
W x T = W is sister of T.
T + H =+ T is mother of H.
Therefore, W is aunt of H.
W + T = W is brother of T.
T + H =3 T is mother of H.

Therefore, W is maternal uncle
of H.

20.

4y M+ T = M is brother of T.
T - R = Tis father of R.
Therefore, M is uncle of R.
R + T= Ris brother of T.
T-M = Tis father of M.
Therefore, R is uncle of M,

Bul. M is either niece or
nephew of R.

R x T = Ris sister of T.

T + M = T Is mother of M.
M x J = M is sister of J.
Therefore, M is niece of R.
R + T = Ris brother of T.
T-M= T is father of M.

M +J = M is brother of J.
Therefore, M is nephew of R.

25.

{21-26):

®
(i)
(i)

(iv)

21.

-

22.

23.

All rockets are poles = Univer- \
sal Affirtnative {A-type).

Some poles are trams = Particu-
lar Affirmnative (I-type).

No pen is table = Universal
Negative (E-type).

Some pens are not tables = Par-
ticular Negative [O-type).

(4) Some trams are ropes.

&=
All ropes are tents.

I + A = I-type of Conclusion

“Some trams are tents.” 26
Conclusion I is Converse of it. )

Conclusion IV is Converse of the
first Premise.

(3) All dials are mirrors.

All mirrors are spoons.

A + A = A-type of Conclusion
“All dials ire spoons.”
Conclusion 1l is Converse ol il.

(1) Some houses are foresis.

All loresis are trees,

1+ A = - type of Conclusion
“Some houses are trees.”
Conclusion 1I is Converse of it.

Some 1rees are hills.

& ‘
All hilis are buses.

I + A = I-type of Conclusion
“Some trees are buses.”
Conclusion I is Converse of it.
{2) All the [our Premises are Par-
ticular Aflirmative. No Conclusion
follows from the lwo Particular
Premises.

Conclusions II and 1V for
Complementary Pair. Therefore,
either Conclusion 11 or IV follows.|

(3) Some tigers are horses,

All horses are goats.

1 + A = I-type of Conclusion
"Some ligers are goats.” i
Conclusion Il is Converse of il

Some tigers are goats.

All goats are dogs.

1 + A = [-type of Conclusion
“Same tigers are dogs.”

All horses are goats.

All goats are dogs.

A + A = A-type of Conclusion
“All horses arc dogs.”
Conclusion H is Converse of it.

{5} All notebooks are pens.

No pen is table.

A + E = E-type of Conclusion
“No notebook is table.”

No pen is table.

Some tables are desks.
E + 1= O -ype of Conclusion
“Some desks are not pens.”

Some tables are desks.

All desks are tanks,

I + A = I-type of Conclusion
“Some tables are tanks.”
Conclusion 111 is Converse of il,

Conclusions | and 1V form
Complementary Pair. Therefore,
either I or IV follows.
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10.

=~ 0

11.

12.

13.

14.

15

16.

17

.

18

19,

2 3 4_ .32 41
O N E N O E G[G]
2 3 4 3 2 41 :
0 AD Aa0DL [C]
Therefore,

2 3 4 3 2 4 1

O RT->R 0T 8 [§

4) 3151'420 18 1 19 20
CONTRAST
L4 L4

{3) Meaningful Worlds = REDO,
RODE

{4} Urmila's grandfather's only
cdaughter may be mother or aunt
of Urmila.

Again, the sex of Urmila is not
known.

(n

Thus, there are 40 - (12+ 18] boys
bhetween R and T,
40 - 30 = 10 boys
(2) According to Mohit his father's
birthday may be on 1st to 18th
April.
According to Mohit's sister their
father's birthday may be on 18th
or 19th April.
Common Date = 18th April
(3} Highest number = 846
Required sum = 8 + 4 =12
{(2) 528 = 258: 739 = 379,
846 = 486; 492 = 942;
375 = 735
Second lowest number = 379
{3) 528 = 825: 739 = 937;
846 = 648; 492 == 294;
375 = B73;
Third highest number =» 648
(3) W+ T = Wis mother of T
T - H =T is father of H.

Therefore, W is grandmother
of H.

W + T = W is brother of T.
T - H = T is father of H.
Therefore, W is uncle of H.
W xT= W is sister of T,
T + H = T is mother of H.
Therefore, W is aunt of H.
W + T = W is brother of T.
T + H= T is mother of H.

Therefore. W is maternal uncle
of H.

20. 49 M+ T = M is brother of T.

T~ R = Tis father of R.
Therefore, M is uncle of R.

R + T= Ris brother of T.

T - M = T is father of M.
Thercfore, R is uncle of M,
Bui, M is either niece or

nephew of R.

R x T = R is sister of T.

T+ M = T is mother of M.
M x J = M is sister of J.
Therefore, M is niece of R.
R + T = Ris brother of T.
T~-M = T is father of M.

M +J = M is brother of J.
Therefore, M is nephew of R.

25.

{21-26):

(i} All rockets are poles = Univer- N

i
(i)

{iv)

21.

~

22.

23,

sal Affirmative (A-type). - ‘

Sone poles are trams = Particu-
lar Affirmative (I-type).

No pen is table = Universal
Negative (E-type). /
Some pens are not tables = Par-
ticular Negative {O-type).

(4) Some trams are ropes.

e’
All ropes are tents.

1 + A= I-type of Conclusion

“Some trams are tents.” 26
Conclusion I is Converse of it. ’

Conclusion IV is Converse of the
first Premise.

{3} All dials are mirrors.

All mirrors are spoons.

A + A = A-type of Conclusion
“All dials ire spoons.”
Conclusion 1l is Converse of il.

(1) Some houses are forests.

All lorests are trees,

I+ A= I- type of Conclusion
“Some houses are trees.”
Conclusion 1I is Converse of it.

Some 1rees are hills.

&= ‘
All hilis are buses.

I + A =3 I-type of Conclusion
“Some trees are huses.”
Conclusion I is Converse of it.

{2) All the [our Premises are Par-
ticudar Affirmative. No Conclusion
follows from the iwo Particular
Premises,

Conclusions II and 1V for
Complementary Pair, Therefore,
either Conclusion 1l or IV follows.

(3) Some tigers are horses.

/

All horses are goais.

I + A = [-type of Conclusion
"Some tigers are goats ” '
Conclusion Il is Converse of il

Some tigers are goats.

All goats are dogs.

1 + A = [-type of Conclusion
"Some tigers are dogs.”

All horses are goats.

All goats are dogs.

A + A = A-type of Conclusion |
“All horses are dogs.” ‘
Conclusion Il is Converse of it. |

[3) All notebooks arg pens.

No pen is table.

A + E = E-type of Conclusion
“No notebook is table.”

No pen is table.

Some tables are desks.

E + 1= O -type of Conclusion
“Some desks are not pens.”

Some tables are desks.

All desks are tanks.

I + A = 1-type of Conclusion
“Some tables are tanks.”
Conclusion U1 is Converse of il.

Conclusions 1 and 1V form
Complementary Pair. Therefore,
either I or IV follows.
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(27 - 31) : Sitting arrangement

27. [5) V is sitting between R and T.

28. (2) Z is second to the right of T.

29. (4) P is second Lo the right of S,
Also, P is sixth of the lefl of S.

30. (3} S is Lo the immediate left of
Z

31, (1) Ris second to the right of W,

3z

‘;CDnsonant Consonant I Symbol l

There is no such combination.
33. (1) According to question, the new
sequence would be :

'.\"TIRPSQHA-HIDSM%ZTHUQNIVGKF

L5th from the left end
34. (2)

te

| Symbol l Number l Consonan—tl

There is only one such combina-
tion : 355]
T ,x ,9

Q +1 N -3 $

6 -1 v +3

% +1 T -3
36. (1} 9th to the right of 22nd {rom
the right end means 13th from
the right end, i.e.. T.

35.(4}

37. 5) | Number [ Symbol | Leuer]

Such combinations are :

7@1],[50M],

[2%T ) [86U],[6#K ]

B GE K F UDH
N N A A
1l » @ © 7 8
Condition {i) is applicable.

39. (1)J M E
L1l
§ % 8

© «<C

9]
Q
=]
o
o
Q
-
E
=
(7]
2]
g,
2
g
[=3)
S
o

© 8 2 7 9 ©
Condition (iti) is applcable.
41. 4D M E A K J
N A
& % 8 5 % &
Condition (ii) is applicable.
42, (1} I WP O
N
3
(51 U
l
©

£ 2O«
R .

4
9
D
1
7

*» RO &m
M~ — T

S=z|@= =

% =>

©= =<

* = <

(44-49) :

4, BiDeM=
MSB=
B*xR= B<«R
R%T= R<T

Therefore, D=M>B<R>T
Conclusions ;

I. B D=B«<D: Not True
It. B@ D=B=D: Not True

B is either smaller than or equal
to D. Therefore, either I or il is
true.

HL.T* M=>T< M : Notl True
43. A WO F=>W<F
F@bD=F=D
D¥K=D<K
KSd=>Kz>dJ
Therefore, W< F=D<K>J
Conclusions :
I. KboW=K>W: True
II. DEW=D>W: True
III.F ¥ K=F<K:True
46. B3I R* K= R<K
KoM= K<M
M%T= M>T
TSJ=Tz>Jd
Therefore, R« K<M>T>d
Conclusions :
I. J*M=J<M:True
II. R* M=R<M: True
NI.LK®J =K< dJ: Not True
BIREK=R=K
TOK=T<K
TEM=T>M
MAW=M<W
Therefore, R=K>T>M<W

D=M
M>B

47.

Conclusions :
I. W% K=W>K: Not True
I MEK=M<R: True
ML TER=T<R:True
48. B) TSN=T>N
N%B=>N>B
B@W=B=W
KOW=K<W
Therefore, T>N>B=W > K
Conclusions :
I. K$B =Kz B: Not True
II. KST=K>T: Not True
M. T% B=T>B8: True
MZ%V=Z>V
Vakd=Ved
JOM=J<M
M@R=M=R
Therefore, Z>V <J<M=R
Conclusions :
I. RWV=R>V:True
II. M%V=M>V:True
II.Z% M =Z > M : Not True

(50-55) : After careful analysis of the
given input and various steps of

49.

rearrangement it becomes clear
that in the first step one number
is rearranged and in the second
step one word is rearranged.
These two steps are continued
altemately tili all the numbersget
rearranged in ascending order
and all thewords get rearranged
in reverse alphabetical order.

50. (2)

Step Il 15 window 29 93 86 sail
tower buy

Step 1V : 15 Window 29 tower 93 86
sail buy

Step V : 15 window 29 tower 86 93
sail buy

Step VI : 15 window 29 tower 86 sail
93 buy

Eventually, Step IV is the last

step.

51. 2

Input : Station hurry 39 67 all men
86 59

Step | : 39 Station hurry 67 all men
86 59

Step Il : 39 Station 59 hurry 67 al
men 86

Step Il : 39 Station 59 men hurry 67
al 86

Step 1V : 39 Station 59 men 67 hurry
al 86

Step V : 39 Station 59 men 67 hurry
86 all
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52. (4) It is not possible to deter-

mine the Input from any given

step.

53. (2

Input news 79 53 glory for 46 29

task

29 news 79 53 glory for 46

task

Step Il : 29 task news 79 53 glory for
46

Step Il : 29 task 49 news 79 53 glory
for

Step IV : 29 task 49 news 53 79 glory
for

54. (4)

Step 11l : 27 tube 34 gas Chamber row
74 53

Step 1V : 27 tube 34 row gas Chamber
74 53

Step V : 27 tube 34 row 53 gas Cham-

ber 74

. 27 tube 34 row 53 gas 74

Chamber

55. (2

Step 11 :

Step | :

Step VI

19 year 85 74 near gone 26
store
19 year 26 85 74 near gone
store
Step IV . 19 year 26 store 85 74 near
gone
Step V : 19 year 26 store 74 85 near
gone
: 19 year 26 store 74 near 85
gone
(56 - 60) :

Student

Step Il :

Step VI

Favourlte ™
Subj ect f
Marathi A |
Geogfaphy
gowmics
Chemijstr_x‘
Biol

Physic
Mathematics
Engnf’h

%
Class i

VI
Vi
VI
Vi
VI
VI
VI
Vil

HW ;
i -

IO Mmool w >

ikes English.
favourite subjegt is Math-
ematigs. L

58. vourite subject is Eco-

NOMI CSi
(5) None iJ::orrect.

(3) A, E and G study is Standard
VIII.

59.
60.

‘eé.
*

(61 - 70) :

Candi- Conditions

date o Tan i or @ ]iiv} vor (5
Nidhi rarars - %3/} -
Navin Farard -tV -
Sabina ¢ |v | - v -
Manoj Y ars ||| -
Varsha [+ (X |/ S raran
Utpal rarars —-|vI|v¥ | -
Anindita [ |V |V -|vViv | -
Samir arars -]
Nimnisha |« [ | —- VIS -
Sadashiv|«/ |V | v -|vi-| v

61. (2) Nidhi Agrawal does not sat-
isfy condition (iv). Therefore, she
cannot be selected.

(4) Navin Desal does satisfy con-
ditions (i), (i), (iii), (v) ndr?g\
Therefore, his case
referred to VP - M

62.

63.

Therefore, her
referred to GM -
(1) Manoj Malhotra does
all the conditions. Therefore¥he
can be selected.

64.

65.

c@o e selected.

1) Ut mi Goswadoes gatisfy

alll the conditions. Therefore, he
™ can be selected.

,67. (1) Anindita Ghosh does satisfy

al the conditions. Therefore, she

. can be selected.

(1) Samir Phukan does satisfy all

the conditions. Therefore, he can

be selected.

(3) Nimisha Patil does satisfy con-

ditions (i), (i), (@, (iv) and (V).

Therefore, here case should be

referred to GM-Marketing.

(4) Sadashiv Ghatge does satisfy

conditions (i), (i), (iii), (iv) and (b).

Therefore, his case should be

referred to VP- Marketing.

(1) Only assumption | isimplicit

in the Statement. The use of

term ' al' in the second assump-
tion makes it invalid.

. (5 Clearly both the assumptions
are implicit in the Statement. A
function is organised assuming
that all the necessary prepara-
tions for the same can be accom-

66.

. B

69.

70.

71.

2 Va@ﬁ(olkar does not |§at-
isfy conglition (ii). Therefore, fshe

73.

74.

75.

76.

77.

79.

80.

81.

£

82.

83.

84.

85.

86.

78.‘§ Only,course of g€

plished on time. Again, we invite
people assuming that people will
respond positively.

(2) Only assumption Il seemsto
be implicit in the Statement. The
cause for reduction in prices
may be the lowering in prices of
components and slashing of
other taxes. 1

(4) Neither of the assu ic?hsis
implicit in the Statem“ 1
(5) Both the assumptionsar
plicit in the Statement. L]
(2 Only catirse of actl'orrfl
seems to be appropriate.
(5) Clearl§"both the courses a
tion e suitable for pussuing.
tion Il sams
be‘appropriate for pursuing.
Both'the courses of action ae
approprate for pursuing.
(2 Only course of action Il
seems to be suitable for pursu-
ing.
(2 The use of term 'only" makes
it probably true. It is mentioned
in the passage that "Subse-
quently high and consistent en-
nomic growth made South Kaea
one of the high-income econom-
icsin Asia".
(3) From the facts given in the
passage it is not possible to de
termine the truth or fasity of te
inference.
(1) Clearly, the inference is ddi-
nitely true.
(5) The inference is definitely
false. Consider the following
lines of the passage :
"India on the other hand,
adopted an import Substitution
policy since its Independencel
until the early 1990s. Since then
India has introduced Wideran-
ing economic policy reforms ad
is moving towards market -
driven economy. This has re-
sulted in consistent high eo
nomic growth over the last oneJ
and a half decade."

(1) The inference is definitely
true. Consider the following lire
of the passage :

Though the Asian growth do-
ries mainly revolve around Inda
and China..... .. .. "

(4) From Problem Figure (1) to (2)
the left most and the right mog
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87.

designs Interchange positions al-
ter being inverted. Similarly, the
two middle designs interchange
positions. From Problem Figure
(2 to (3) the leftmost design
moves to the rightmost position.
These two Steps are continued in
the subsequent figures alter-
nately.

(5 The following changes occur
in the subsequent figures :
()to(2) (2)to(3)

=y —pe—a

. . - » D e—>e—D10

N
T

XX

These two Steps are continued in
the subsequent figures alter-
nately.

88. (2 The following changes occur

in the subsequent figures :
(Nto(2) (2)to(3)

89.

s

Vs

These two steps are continued in
the subsequent figures alter-
nately.

(D In each subsequent figuré.the
arrow moves to the oppdSite si
after being inverted. Fro

91. (3) The following changes occur

92.

93.

V4

94.
Prob- *

lem Figure (2) to (2) one line Seof »

ment is added to the upper ro
and one circle.isladded to the
lower row. From Broblem Figure
(9rto (=two de gns each are
added to the upper+and the
lower rows. These t o\%ps are
continued in the subSequent fig-
ures altemately andithe number
‘of designs to be added is in-
sereasing by one.

90. (3) The folloiwng changes occur
if the subsequent figures :
M to (2 @to(d
|N.._).__).

"N

Thesetwo stepsare continued In
the subsequent figures alter-
natdy.

95.

in the subsequent figures :
(Nto(2) (2)to(3)

Lh )

These two steps are ocntinued in
the subsequent figures alter-
nately.

(3).From Problem Figures (1) to
(2 thefirst and the third designs

interchange positions. Similarly,
the fourth and the sixth designs

*

interchange positions. ®krom
Probelm Figure (2) t0 (3), the'ad-
jacent pairs of jdesigns ifiter-

change positi

(Nto(2)

N

A

These two steps are continued in
the subsequent figures alter-
nately.

(5 The following changes occur

¢ in the subsequent figures :
Dto(2

Q@

These two steps are repeated al-
temately in the subsequent fig-
ures.

(2 The following changes occur
in the subsequent figures :
()to(2) (2)to(3)
} |
N PR
D D Tty "

These two steps are repeated al-
temately in the subsequent fig-
ures.

96. (4 The following changes occur
in the subsequent figures :

(Nto(2) (2)to(3)
. . . l<—-<—--<-T
A N 'L—>-—>--—>T

. W .g L1

These twg, steps are repeated al-
tematel'pin the subsequent fig-
ures. i
97.4(5). From Pr@)lem Figure (1) to (2
« the main design rotates through

11807 and the Smaller designs are
{ inverted. From Problem Figure

(2)\to (3) again main design ro-
tates through 180°. Similar
changes occur from Problem Fig-
ure (4) to Answer Figure.

98. (3) The following changes occur
in the subsequent figures :

(Nto(2) (2)to(3)

e

These two steps are continued in
the subsequent figures alter-
nately.

99. (1 The following changes occur
in the subsequent figures :
Mto® Ato@ Bto@ @ to(d

%

%y
e A

*

IR

Therefore, similar changes would
occur from Problem Figure (5) to
Answer Figure as that have been
occurred from Problem Figure (1)
to (2).

(2 The following changes occur
in the subsequent figures :
DHto(? (GRCNE)

|
These two steps are continued in

the subsequent figures alter-
nately.

100.
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101.

102.

103.

104.

103,

1086,

107.

108.

100,

(3)? = 7960 + 2956 - 8060 +
4028 = 6894

50.4

24
=81.25+ 2.1 = 83.35

?x 350

100X56 + 248 = b9l

2) 7 =25 x 3.25 +

(m

7x?
100

= =591 - 248 = 343

343 x100

7 = 4900

= 7 =

1 2x15
2 " 100

(1) 3842 x = 2449

?x15
100

= 1921 + © = 2449

215 54491021 - 528
= 100 ° - =
528 x 100

5 = 3520

= P o

2 2 83325 - 384.45
@ 7= 24

4488
T4
(4) The pattern of the number’
series is : i
325-1x11 =314

314 -2 x 11 =292

202 -3 x 11 =259

259 -4 x 11 = 215

215 - 5x 11 = [160]

{2) The pattern of the number
series is :

45x 1+ 1=
46 x 1.5+ 1
70x 2+ 1
141 x 2.5 + 1

=352.5 + 1 = [ 3535

{3) The pattern of the number
series is :

620 + 1 x 12 =632

632 -2 x 12 = 608

608 + 3 x 12 = 644

644 - 4 + 12 = 596

596 + 5 x 12 = | 656

(5) The pattern of the number
serles is :

15x2-1%x5=25

=187

46
=70
141

110.

111.

112.

113.

25 x2 -2 x5 =40
40x2-3x5=65

B3x2-4xb= 11_9

110x2-5%5=195

(5) The pattern of the number
series is
120 x 2.5 + 20 = 320

320 x 2.5 + 20 = | 820
820 x 2.5 + 20 = 2070
2070 x 2.5 + 20 = 5195

R T
= 1+—
{1} Amount =P [ 100]

= 5800 + 594.5

R 2z
= 14—
5800{ +100]

R ]2
+ —
100
i‘f
100

63945 [1
= 58000

441 _{1+
= 200

114.

_ 348000 - 250000

115.

116.

117.

- = 118.

3
=120/ U "100
R 21

=1+ 750 =~ 20

1
= — x 100
= R 30

= 5% per annum.

(3) | Tricky Approach

X
Let the original fraction be '“J .

x %250 _ :2_5
oy x450 61
x _25 450 _15
=y 51 250 17
(4) The word BANKING consists

of 7 tetters in which ‘N' comes
twice.

71

. Number of arrangements = 21

TxGxHx4x3x2x1
N Zx1

= 2520

118.

120.

121.

122,

{2) rTricky Approach

Gain per cent

W00 100 = 30
250000 39.2%

(5 | Tricky Approach

If the number ol parrots in the
forest be x, then number of Ui
gers = 858 - x
AXx2+{858- 4 x4=1746
= 2x = 3432 - 1746 = 1686

1686
2

(3) Required percentage

= 09 x100 =75
12

-

= X= = 843

(1) | Tricky Approach|

Required average

113+6+18+1+15)

x 100
5

3780

5
{2) Number of music shows in
cities N and Q = 15% of (13 +
12.4) x 100 = 25.4 x 105 = 2667
{4) Required ratio = 12.4 :9.8
= 124 : 08 =62 : 49
(3) Total number of stand up con-
edy shows
=08+2+03+1+3+07)x
100 = 780
{5) Required difference

=756

. 7
= 1008 x B - 968 x 2
= 882 - 726 = 156
(4) Let the numbers he x and y
where x> .
2x + 3y = 100 L1
3x+ 2y =120 i

By equation (ii) « 3 - (i} x 2, we have

123.

9x + By ~ 4x - 6y = 360 - 200
= DBx = 160
160

SXE T DT o=

5

(3) ! Tricky Approach

Number of studenis in the school
= 54 »x 30 = 1620

Number of rows of 45 students
1622

each = a5 < 36
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124.

125,

128,

127

128.

129.

(5) Let the present ages of Anju
and Sandhya be 13x and 17x
years respectively.

13x -4 11
"17x-4 15
= 187x - 44 = 195x -~ 60
= 195x - 187x = 60 - 44
= 8x=16
= x=2

-, Required ratio
=(13x2+6):(17x2 + 86}
=32:40=4:5

(1) [ Tricky Approach|

Let the required average age be
X years,

L80x15=15xI6+25x%x 14 +
40 x x

= 40x =1200 - 240 - 350 = 610

SoXE T

40
[3) Required average

= 15.25 years

: [66000 %32,
3 100

+ 54000 x 28 +

100

125)
16000 x -2
0100

1
= 3 (23100 + 13500 + 2000)

= 12867
(2) Number of obese men in the
year 2009

= 78000 x 375
100

= 29250

Number of normal men

= (78000 - 29250) = 48750

.. Required percentage
29250

= 48750

{4) Required ratio

x 100 = 60

275

20
=60000 x —— : 70000 x o

100
= 12000 : 19250 = 48 : 77

{1) Number of obese women and
obese children in 2006

60000 % 20 12000 % 25
- 100 100

= 12000 + 3000 = 15000

+

130.

Number of obese men in 2006

63000 x 325
= —————— = 20475

100
Required difference
= 20475 - 15000 = 5475
{4} Required number of children
not sulfering from obesity
15000 x 85 21000x 90
100 100

= 12750 + 18900 = 31650

Calculation {131-135) :

Rural area Urban area
Puhlic sector Public sector
banks = 450 banks
'1—500Q 3750
= ) = 5
Private banks = 300 Privale banks
15000 %12
B 160
=1800

131.

132.

133.
134,

135.

136.

Public sector banks in rural and
urban areas = 3600

Public and Private banks in ur-

15000 %15
. 100
Public and Private banks in rurat
area = 600
In experienced candidates
= 15000 - 12750 = 2250

(2) Required number of candi-
dates = 450 + 300 + 600 + 3600
= 4950

(4} Required number of candi-
dates = 450 + 3750 + 3600 +
2250 + 600 = 10650

[2) Required ratio
=450:300=3:2

{3} Required number of candi-
dates = 1800 + 2250 = 4050
(3} Required percentage

2250
~ 10650

(4) Marks obtained by C in the
exam.,

ban area = = 2250

x100 = 21.12%

72x150

75456 60x_75
=75+56+ — oo

100

150x75 40 x 80
100 7100

=75+56+108+45+ 1125+
32 = 428.5

+

137.

138,

139.

140.

.. Required percentage

428.5
= 100 =
600 X 71.4%

[ Quicker approach |

Required percentage

1
=€[75+56+7: -THh + 75+

80)= 72%
{1) Marks obtait
glish and Maths

B in En-

. 150 x 88
100
=88 + 132 = 220

Marks obtained hy F in English
and Maths

= 88

=85+ 111 =196
Required differcnce
=220- 196 = 24

| Quicker approach |

Required difference
= (88 - B5} + (88 - 74j% of 150

150x 14

=34 oe =3+21=24

{3) Marks obtained hy E :

Geopraphy  40X75
eography = — o0

=30
Hindi = 60
- Required percentage

30
= — x100 =50
60

{2) Marks obtained by D :

60x 80 _

48
100

History =

x 62
100

.. Required percenlage

48 +24.8
- B rerS v 100-
ST T 728

(5) Average marks in science

Geography =» =248

150

= 6x100
68 + 90) = 119.25

B2 +854+ 72 +80+
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141. (1) Average number of women
(37,5 +30+25+375+35
= 5

} X 100000
= 3300000

142. (5) Total number of studcnts in
universities Pand R

= (30 + 37.5 + 42.5 + 25) lakh
= 1350 "00
143. (2) Re  rdratio
= (37 'J) : (42.5 + 27.5)
= 67%. o =27:28
144. (4) Required percentage

40
= (25 + 37.5)

1438. (3) Number of males in univer-

x100 = g4

HyT=27.5% o
Syl =219% 700

~. Required number of students
= (41.25 + 35) lakh
= 76.25 lakh = 7625000

39457 996 x25

=41.25lakh

146. (3) ? = 50 100
400 x 57 B 1000x25
100 100
=228 -25
= 203

. Required answer = 200
147, 1) 7 =97 x 10+ 1 = 971
.. Required answer = 940

,. 3,125
148. ) 7= £ ¥ 7228 " "
M. () 7= ___‘“33;’0"25 ~ 15

638 + 9709 - 216
180. (3) ? = —~ 26 " 390

151 4(5) All (A). B) and (C) “] ‘\

1525 (1) To improve securityin ofder
to counter increasing terrorism

153. (5)¢To bring forth thefproblems
associated with the India's de-
velopffient and to suggest mea-
sureglto counter them

154. (2 All (A), (B) and (C

155. (3) Only (C

156. (4 Only (A) and (C)

157. (2) Child gabour and the result-
ing dearth of educated youth

158. (4) By allotting proper funds for
research which can be predict
the outcome of such calamities
and thus design relief measures

159. (4) The meaning of the word Sur -
veillance (Noun) as used in the
passage is : the act of carefully
watching a person suspected of
acrime: Observation.

Look at the sentence :
The.police are keeping the sus-
pects under constant surveil-
lance.

Hence, the words surveillance
and Observation are synony-
mous.

160. (3) The meaning of the word Pre-
requisite (Nonn) as used in the
passageis : something that must
exist or happen before something
eise can happen or be done; pre-
condition.

el.

Hence, the wor
and necessity

sage is : the chances of being

succesiiul_; future.
Look al sentence :

26ffhe was an unemplrlyed

)%t%ith no prospects.

162} Themeaning of the word Com-
JaMensurate (Adjective) as used
in the passage 'is : matching
something in size, importance,
quality etc.

A\ Hence, the words eommensu-

v rate and match are synonymous.

63. (1) The meaning of the word Lim-
ited (Adjective) as used in the
passage is : not very great in
amount or extent.

Theword abundant means : ex-
istingin large quantity; morethan
enough.

Hence, the words limited and
abundant are antonymous.

164. (2) The meaning of the word Dif-
ferential (Adjective) as used in
the passage is : showing or de-
pending on a difference; no
equal.

Theword Homogeneous (Adjec-
tive) means: consistingof things
or people that are all the same or
all of the same type.

Hence, the words differential
and homogeneous are antony-
mous.

165. (4) The meaning of the word Vig-
orously (Adverb) as used in the
passageis: actively; energeticaly:
strongly.

Hence, thewordsvigorously ad
softly are antonymous.

166. (3) different rates of inﬂekist
167. (4 wetake some *

168. (1) what impact ( .
169. (5 No correction reﬁuire}/ |
170. (3 not havegfnuch good * '
171. @ D 172.2) B~ r‘
173. (5 F 174.(1) A

175. (4),E e

1764(3) Pltral subject agrees with piu-
verd. \Hence, S?és]tem and ne=d
o shopld be used.

177. (4) Herg, passive voice should he
used. Hence, replacewhich isye
to take by which is yet to be
taken.

178. (2) Here, gerund should be used.
Hence, process of flnalising new
policy should be used.

179, (1) Definite article 'the’ should be
used.

180. (3 Here, 'pay more than those

that' should be used.

(2) Here, 'world's leader manu-

facturer' should be replaced by

world's leading manufacturer.

Theword leading is an Adjective.

(1) Theword 'per cenf is folowed

by preposition 'of.

Hence, over eighty per cent of

us should be used.

(5 Noerror

(1) Here, 'with theliteracy ratein

this' should be used.

(5 Noerror

(2) The appropriate word should

be : last

(5) All correct

(1) The appropriate word should

be : available.

(2 The correct spelling is : fea

sible.

(4) Thecorrect spellingis : mecha

nisms.

191. (4) relationship

192.(5) is

193. (3) Rising 194. (1) means

195. (2) precursor 196. (4) changes

197. (3) cease 198. (4) pace

199. (5) debated  200. (1) forecast

181.

182.

183.
184.

185.
186.

187.
188.

189.

190.

www.examrace.com





